Twin Paradox

Figure 2.26 The spacetime diagram for Mary's trip to the star sys-
tem and back. Notice that Frank’s worldline is a vertical line at x = 0,
and Mary's two worldlines have the correct slope given by the magni-
tude ¢/v. The black dashed lines represent light signals sent at annual
intervals from Mary to Frank. Frank’s annual signals to Mary are solid
black. The solid dots denote the time when the light signals arrive.
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Figure 2.26 The spacetime diagram for Mary’s trip to the star sys-
tem and back. Notice that Frank’s worldline is a vertical line at x = 0,
and Mary's two worldlines have the correct slope given by the magni-
tude ¢/v. The black dashed lines represent light signals sent at annual
intervals from Mary to Frank. Frank’s annual signals to Mary are solid
black. The solid dots denote the time when the light signals arrive.
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